# A D By 32/ FEAfi+E (6 ARTH)

WWEDT RINSHRAOZSORHIZ A= BRI, FRBERESKEOY REEDLOAFESEOH

INETEH TN,
o oo o Ny — INSEAEFE ()
% B B RB/SE oo pm | mEE  E#x—i—| BEE
fif] L2 R 258
iag R 680
T RINSHRA - 100g 205
dtiEE = =9
IR 100g 158
R FEER = 258
LWATA RIGE ] 399
ERBER|RAY 3 399
15 E B 84T 3 699
BE % 680
FER 3 630
H VIR 3 680
EMVOLE FEE nNyh 263
AT SAAY [ nyy 525
1K 63
EpoY BER 4K nNyh 199
1R 39
FERER 1R 53
= 498
o RAERAT = 525
MR 7 399
BRIRAR = 139
54 RENAT En 498
BHR% IR [ERA nNyY 368
e - % 498
AR RAENAT = 259
KE 118 198
EHME|IRE 2{E A L) nNyY 840
Rl S d 8 Nyl 299
- hE EAY nNyh 735
it TN % 840
RE@L—vrzR| 2{E AL nNwh 680
hE EAY nNyh 599
KE A& nNyY 499
BARE[HRETFA—5)| 4AE N9 699
hEaH—)| 5@ nNyh 599
[N B E (BT nNyh 498
==k (B4) £ 525
HEBERIKE 2EAY nNyh 420
- |PE SEAY| nvy 1,050
AR hE nNyh 525
WHWARE |+ EFHI7L) nNwh 399
SI5E b E 118 c 158
KE 3E ALY Nyl 599
Sk N9 598
MILE [S=FTh S 630
S—kTh nNyY 599
1K 158
; IR 1A 79
&g S 126
BEE 2K nNyh 150
HHZ AR *= 129




15
i % 158
- dtiEE ] 79
W& " 198
- NERE S 498
h&E S NERE ] 399
LiEE B ARRE ] 399
=F 8 S 258
EREE &% 298
o ] 630
F5SNAE A = 499
2 FER ] 263
G = 129
R % 350
itiEE = 299
7K RARRT ] 399




	野菜
	果物



